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% J & /£ % Instructions to Contestants

1.

10.

11.
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You should place your Admission Form on your desk for the whole session.

W FWREC FMAT T RTF LR R U P RE -

During the competition, you should switch off your mobile phone and any other electronic or
communication devices that can emit sound.

AIE P LA EANET S FRAAS A smp AT REP o

Contestants should finish all questions in this 45-minutes written test.
EEMNTERER A FFFL LA 2 FF Y R

Write your name, class, admission number, seat number and school name on the front cover of your
answer sheet.
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You can only use the rough work sheet provided by the organizer.
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The use of calculators is NOT allowed.

AL FEERER A ERELFHMAD > FRAI TS FFEFFHBT IR

Put your answers on the answer sheet provided, otherwise, the answers will not be marked. You are not
required to show the steps in your calculations.

AR AR LR o A BN E R Db

Unless otherwise stated by the question, answers of fraction should be expressed in their simplest form.
SRR 0 R FFAAD RTINS A E LS

Under normal circumstances, contestants are not allowed to leave the contest venue before the end of this
session.

BEOCFRRIE G TR EFTR

Any contestant who violates the rules and regulations of the competition might risk disqualification.
FFHIH FERL UL FFEPAN LR AFF AT A FRAE 2T
gD BRI RIL o % g RF A F G RS AE

If you have any queries, you should contact the officer-in-charge immediately after the competition. Late

AN

queries will not be entertained. The decision of the organizing committee will be final.
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LT ahs

Time Allowed: 45 minutes
B 34445+ ...+ 51 -

Evaluate 3+4+5+ ...+ 51.

1.
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& 0100

Total marks: 100
(2 77)
(2 marks)

ER—{EEBUE S AR 3 - JINE 13 Ay 1> SKEZBH &/ ME - 2757)

A positive number is larger than a multiple of 5 by 3 and it is also smaller than a

multiple of 13 by 1. Find the minimum value of the number.

(2 marks)

FEER R EE RSP R AEEEN =APER - EREPHERE

37cm K AHE = APHYESUE 25em > SREFPHIFES -

(277)

In the figure, a star consists of a regular pentagon and five identical triangles. If the

perimeter of the pentagon is 37cm and the perimeter of each triangle is 25cm, find

the perimeter of the star.

(2 marks)

EA A EIEEE > BE2EFE - H A KR B MIEANEETEER

{51 g

(a) A(A+B)

(b) (A-B)(A+B)
(c) AxA+BxB
Given that A is a positive even number and B is a positive odd number while A is

(3 77)

larger than B, determine whether the values of the following expressions is/are odd

or €ven.

(a) A(A+B)
(b) (A-B)(A+B)
(c) AxA+BxB

5a1419 Z—{En]H 3 FEERAYNME > 5K a FrA AIREEVA -

(3 marks)

(3 77)

5al1419 is a 6-digit number and it is divisible by 3. Find the sum of all possible

values of a.

fREE T - K

Find the sum of the numbers of 6% row in the following figure.

FNITRCTHIA -

1strow ZFH—1T

At

Sf —

2nd row 5

3rd row

et

F=AT

17

(3 marks)

3 7)
(3 marks)
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10.

11.

12.
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K 2019 x 2019 x 2019 x 2019 x 2019 x 2019 HY{@E i % - 4 47)
Find the units digit of 2019 x 2019 x 2019 x 2019 x 2019 x 2019 . (4 marks)

WA IEEEH > FEE: 210 » SREZ B FIry

(a) mAIMH

(b) fm/IME - (457)
The product of two positive integers is 210. Find the

(a) maximum value;

(b) minimum value,

of the sum of these two integers. (4 marks)

H—REHA & 45 cm > T2 30 em » AEREME 3552 S em 1 x om

HIFELLE SRR 550 em? » 3K x AYME - (5 57)
There is a piece of rectangular paper with 45 cm long and 30 cm wide. If the length

and width are cut by 5 cm and x cm respectively, the area will be reduced by 550 cm?.

Find the value of x. (5 marks)

Pt E—RINAR - E—(EInE i LY S BECT 8 0 15— (EnEE

firfy 8 $EETR 3 » BT R HIZRAYAIZE 180 - IEHEHINIEZ 2 %/)? (597)
When Peter calculates an addition, he misreads “5” on the tens digit of a summand

as “8” and miswrites “8” on the units digit of another augend as “3”, then the

total sum is 180. What is the actual sum if there is no mistake? (5 marks)

i 1,2,5,6,7, 8 ANEEFAHRE T T AEBIEA T - &AM "1,

BC=AE 1 AP % D (E? (5 97)
Six numbers 1, 2, 5, 6, 7, 8 are used to form a four-digit number (each number can

be used more than once). How many four-digit numbers can be formed with one “1”

or three “17’s? (5 marks)

FHEI P AL A ST 50 A o S RREER R £V REE f 60.8 57
AR By 50 7y SBAPIREE R 68 o FPEH 5 ~ LWERAEEH LD

N (6 47)

In a class, there are 50 students including boys and girls. In a mathematics test, the

average mark of all students is 60.8 while the average mark of girls and boys are 50

and 68 respectively. How many boys and girls are there in this class? (6 marks)
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13.

14.

15.
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& & > ABCD 2 —{#1EJ57F » E #1F 53512 AD F1 AB Yk - %5 ABCD HY

THITE s 40em? » SKEERZER (VI © (6 57)
In the figure, ABCD is a square, E and F are the mid-points of AD and AB
respectively. If the area of ABCD is 40cm?, find the area of the shaded region. (6 marks)

A F B

D C
Fk Ry AT
W&
B 3 {EuhEEE Y $12
HAR RS
HEEWGKEREE $30 $3
TEMEWGERZE $30 1% $2
OIS FRIEIRATE F By $44 > SKEZ TIRFEMSHE T 25/ Dk 2 (6 77)
The following is the fare table of railway in a city:
Fare
First 3 stations or any part thereof $12
Every subsequent station
Until the chargeable amount reaches $30 $3
After the chargeable amount has reached $30 $2
Given that Peter’s railway fare was $44 in his trip, how many stations did he
take for his trip? (6 marks)
SE YRR - SR XHYE - (6 43)
According to the following pattern, find the value of X. (6 marks)
0001 =1,
0010=2,
0011=3
0100=4,
0101 =5,
0110=6,
1000 =X

4 {EAJEE Individual Event




16.

17.

18.

19.

20.
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WTNE > —IRERDIE T AR
E— R TR & F A&y ?
As shown in the figures below, a piece of paper can be divided into two pieces if it

EAEN T RIZ > AIAT Sy -
(747)

is cut once. The paper can be divided into four pieces if it is cut twice. If a piece of

paper is cut five times, what is the maximum number of pieces can it be divided? (7 marks)

\

WHA S454ET & - MohE 7 14 G SEEER Smo Hm BEH -
ZIBMEET 16 MERHEME $7 1vAK - &k 0 #hER TIVEEN B S E G
FERK » 5K m #YE - (757)
Mary has $ 454 to buy snacks. Firstly, she buys 14 packs of biscuit which cost $ m per
pack and m is an integer. Then she buys 16 cans of soft drink and each costs $ 7.

The money left is not enough for Mary to buy more biscuit or soft drink. Find the

value of m. (7 marks)

LT Bt 4 B SR RFRATIEE(0-9) » HEEEA 2 R A -

(BT F R ARA FEET)

Find the digits (0-9) represented by the different letters in the following calculation
so that the sum of the calculation is the maximum.

(Each letter has a different value.)

A B C D
+ 2 0 1 9
E F G H

(847)

(8 marks)

EFI={EA [E Y EEBZ ATE 126 -

() Kis ={EEHY RN AREMH.C.R)HE/IME -
(b) >KiE={EEHYRAANEMH.C.R)HYHRAE
Given that the sum of three different integers is 126,

(8 47)

(8 marks)
(@) find the minimum value of the highest common factor (H.C.F.) of these

three integers.
(b) find the maximum value of the highest common factor (H.C.F.) of these

three integers.

4
15
1

Given that l + b = % , where a > b. Find the values of a and b.
a

fﬂﬁ§+%= CHdra>be sk a Fl b (M - 8 59)

(8 marks)

22 END OF PAPER
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